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neral Instructions

This Test Booklet contains 100 items (questions). Each item comprises four responses (answers). You will select the

response which you want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each item.

All items carry equal marks.
Penalty for wrong answers:

You have to mark all your responses ONLY on the separate OMR Sheet provided.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third (0.33) of the marks assigned to that question will be deducted as

penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers
happens to be correct and there will be same penalty as above to that question.
(i) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question.

With reference to cabinet mission, which of

the following statements is/are correct?

1. Itrecommended a federal government.

2. It enlarged the powers of the Indian
courts.

3. It provided for more Indians in the ICS

Select the correct Answer using the code given
below:

(a) lonly
() 1and3only

(b) 2and 3 only
(d) None of the above

Which one of the following National Parks
has a climate that varies from tropical to
subtropical, temperate and arctic?

(a) Khangchendzonga National Park

(b) Nandadevi National Park

(c) Neora Valley National Park

(d) Namdapha National Park

Amnesty International is

(a) an agency of the United Nations to help
refugees of civil wars

(b) a global Human Rights Movement

(c) a non-governmental voluntary
organization to help very poor people

(d) an inter-governmental agency to cater
to medical emergencies in war-ravaged
regions

With reference to art and archaeological

history of India, which one among the

following was made earliest?

(a) Lingaraja Temple at Bhubaneswar

(b) Rock-cut Elephant at Dhauli

(c) Rock-cutMonumentsatMahabalipuram

(d) Varaha Image at Udayagiri

With reference to Indian history, which of
the following is/are the essential elementary
elements of the feudal system?

1. A very strong centralized political
authority and a very weak provincial or
local political authority.

2. Emergence of administrative structure
based on control and possession of land.

3. Creation of lord-vassal relationship
between the feudal lord and his
overlord.

Select the correct Answer using the code given
below:

(a) 1and2only
(c) 3only

(b) 2 and 3 only
(d) 1,2and 3

O
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‘BioCarbon Fund Initiative for Sustainable

Forest Landscapes’ is managed by the

(a) Asian Development Bank

(b) International Monetary Fund

(c) United Nations Environment
Programme

(d) World Bank

India is a member of which of the following?
1. Asia-Pacific economic corporation.

2. Association of South-East Asian Nations.
3. East Asia Summit.

Select the correct Answer using the code
given below:

(a) 1and2only

(b) 3only

(c) 1,2and3

(d) None of the above

In India the steel production industry
requires the import of

(b) rock phosphate
(d) All of the above

The provisions in the Fifth Schedule and
Sixth Schedule in the Constitution of India
are made in order to

(a) saltpeter
(c) coking coal

(a) protect the interests of Scheduled Tribes

(b) determine the boundaries between
States

(c) determine the powers, authorities, and
responsibilities of Panchayats

(d) protect the interests of all the border
States

With reference to the Union Government

consider the following statements.

1. The Department of Revenue is
responsible for the preparation of
Union Budget that is presented to the
parliament.

2. No amount can be withdrawn from the
Consolidated Fund of India without the
authorization of Parliament of India.

3. All the disbursements made from Public
Account also need the Authorization
from the Parliament of India.

Which of the following statements given

above is/are correct?

(a) 1land2only (b) 2 and 3 only

(c) 2only (d) 1,2and 3

Who/Which of the following is the

Custodian of the Constitution of India?

(a) The President of India

(b) The Prime Minister of India
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(c) The Lok Sabha Secretariat
(d) The Supreme Court of India

Consider the following statements:

1. The Accelerated Irrigation Benefits
Programme was launched during 1996-
97 to provide loan assistance to poor
farmers.

2. The Command Area Development
Programme was launched in 1974-75 for
the development of water-use efficiency.

Which of the statements given above is/are

correct?

(a) lonly

(c) Both1and2 (d) Neither 1 nor 2

The Genetic Engineering Appraisal

Committee is constituted under the

(a) Food Safety and Standards Act, 2006

(b) Geographical Indications of Goods
(Registration and Protection) Act, 1999

(c) Environment (Protection) Act, 1986

(d) Wildlife (Protection) Act, 1972

In the Mekong-Ganga Cooperation,
an initiative of six countries, which of
the following is/are not a participant/
participants?

1. Bangladesh

(b) 2 only

2. Cambodia
3. China

4. Myanmar
5. Thailand

Select the correct Answer using the code
given below:

(a) lonly (b) 2,3 and 4 only

(c) 1and 3 only (d) 1,2 and 5 only

“Basel III Accord’ or simply ‘Basel IIT’, often

seen in the news, seeks to

(a) develop national strategies for the
conservation and sustainable use of
biological diversity

(b) improve banking sector’s ability to deal
with financial and economic stress and
improve risk management

(c) reduce the greenhouse gas emissions but
places a heavier burden on developed
countries

(d) transfer technology from developed
countries to poor countries to
enable them to replace the use of
chlorofluorocarbons in refrigeration
with harmless chemicals
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Consider the following statements

1. The winds which blow between 30
degrees N and 60 degrees S latitudes
throughout the year are known as
westerlies.

2. The moist air masses that cause winter
rains in North-Western region of India
are part of westerlies.

Which of the statements given above is/are

correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

With reference to ‘Indian Ocean Rim

Association for Regional Cooperation (IOR-

ARCY, Consider the following statements:

1. It was established very recently in
response to incidents of piracy and
accidents of oil spills.

2. It is an alliance meant for maritime
security only.

Which of the following statements given

above is/are correct?

(a) 1only (b) 2 only

(c) Bothland2  (d) Neither 1 nor 2

Which one of the following movements
has contributed to a split in the Indian
National Congress resulting in emergence
of ‘moderates’ and “extremists’?

(a) Swadeshi Movement

(b) Quit India Movement

(c¢) Non-Cooperation Movement

(d) Civil Disobedient Movement

In a particular region in India, the local
people train the roots of living tree into
robust bridges across the streams. As the
time passes these bridges become stronger.
These unique ‘Living Root Bridges’ are
found in

(a) Meghalaya (b) Himachal Pradesh
(¢) Jharkhand (d) Tamil Nadu

Tides occur in oceans and seas due to which
of the following?

1. Gravitational Force of the Sun.

2. Gravitational Force of the Moon.

3. Gravitational Force of the Earth.

Select the correct Answer using the code
given below:

(a) lonly (b) 2 and 3 only

(c) 1land3only (d) 1,2and 3

In which of the following activities are

Indian Remote Sensing (IRS) satellites
used?

22,

23.

24.
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1. Assessment of crop productivity
Locating ground water resources
Mineral exploration
Telecommunications

. Traffic studies

Select the correct Answer using the code
given below:

(@) 1,2and 3 only (b) 4 and 5 only

(c) 1and2only (d) 1,2,3,4and 5

Consider the following States:

1. Arunachal Pradesh

2. Himachal Pradesh

3. Mizoram

In which of the following states do “Tropical
Wet Evergreen Forests” occur?

(a) 1only (b) 2 and 3 only

(c) 1land 3 only (d) 1,2and 3

The term ‘IndARC’ sometimes seen in the

news, is the name of

(@) an indigenously developed radar
system inducted into Indian Defence

(b) India’s satellite to provide services to the
countries of Indian Ocean Rim

(c) ascientific establishment set up by India
in Antarctic region

(d) India’s underwater observatory to
scientifically study the Arctic region

SIS

With reference to ‘Forest Carbon Partnership
Facility’, which of the following statements
is/are correct?

1. Itis global partnership of governments,
businesses, civil society and indigenous
peoples

2. It provides financial aid to universities,
individual scientists and institutions
involved in scientific forestry research
to develop eco-friendly and climate
adaptation technologies for sustainable
forest management

3. It assists the countries in their 'REDD+
(Reducing Emission from Deforestation
and Forest Degradation+) efforts by
providing them with financial and
technical assistance.

Select the correct Answer using the code

given below:

(a) 1only

(c) 1and 3 only

(b) 2 and 3 only

(d) 1,2and 3

Which one of the following was given
classical language status recently?

(a) Odia (b) Konkani

(c) Bhojpuri (d) Assamese
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With reference to an organization known
as ‘Birdlife International’ which of the
following statements is/are correct?

1. ItisaGlobal Partnership of Conservation
Organizations.

2. The concept of ‘biodiversity hotspots’
originated from this organization.

3. It identifies the sites known/referred
to as ‘Important Bird and Biodiversity
Areas’.

Select the correct Answer using the code

given below:

(a) 1only

(c) 1and3only

(b) 2 and 3 only

(d) 1,2and 3

Which one of the following countries of
South-West Asia does not open out to the
Mediterranean Sea?

(b) Jordan

(d) Israel

(a) Syria
(c¢) Lebanon

In India, in which one of the following types
of forests is teak a dominant tree species?
(a) Tropical moist deciduous forest

(b) Tropical rain forest

(c) Tropical thorn scrub forest

(d) Temperate forest with grasslands

‘Beijing Declaration and Platform for

Action’ often seen in the news, is

(a) astrategy totackle the regional terrorism,
an outcome of a meeting of the Shanghai
Cooperation Organization.

(b) aplan of action for sustainable economic
growth in the Asia-Pacific Region,
an outcome of deliberations of the
Asia-Pacific Economic Forum

(c) an agenda for women’s empowerment,
an outcome of a World Conference
convened by the United Nations

(d) astrategy to combat wildlife trafficking,
a declaration of the East Asia Summit

“Each day is more or less the same, the
morning is clear and bright with a sea
breeze; as the sun climbs high in the sky,
heat mounts up, dark clouds form, than rain
comes with thunder and lightning. But rain
is soon over.”

Which of the following regions is described
in the above passage?

(b) Equatorial

(d) Mediterranean

(a) Savannah
(c) Monsoon
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With reference to India economy, consider

the following statements:

1. The rate of growth of real Gross
Domestic Product has steadily increased
in the last decade.

2. The Gross Domestic Product at market
prices (in rupees) has steadily increased
in the last decade.

Which of the statement given above is/are

correct?

(a) lonly (b) 2 only

(c) Bothland2  (d) Neither 1 nor2

Consider the following statements:

1. The Legislative Council of a state in
India can be larger in size than half of the
Legislative Assembly of that particular
state.

2. The Governor of a State nominates the
Chairman of the Legislative Council of
that particular state.

Which of the statements given above is/are

correct?

(a) 1only (b) 2 only

(c) Both 1and 2 (d) Neither 1 nor 2

“To uphold and protect the Sovereignty,
Unity and Integrity of India” is a provision
made in the

(a) Preamble of the Constitution

(b) Directive Principles of State Policy

(c) Fundamental Rights

(d) Fundamental Duties

Which one of the following is the best

description of the term “ecosystem”?

(a) A community of organisms interacting
with one another

(b) That part of the Earth which is inhabited
by living organisms

(c) A community of organisms together
with the environment in which they live

(d) The flora and fauna of a geographical
area

The fundamental object of the Panchayati
Raj System is to ensure which among the
following?

1. People’s participation in development
2. DPolitical accountability

3. Democratic decentralization

4. Financial mobilization

Select the correct answer using the code
given below:

(a) 1,2and 3 only (b) 2and 4 only

(c) 1and 3 only (d) 1,2,3and 4
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With reference to India economy, consider
the following;:

1. Bankrate

2.  Open market operations

3. Public debt

4. Public revenue

Which of the above is/fare component/
components of Monetary Policy?

(a) lonly (b) 2,3 and 4 only

() Tand2 (d) 1,3 and 4 only

Which reference to inflation in India, which

of the following statements is correct?

(a) Controlling the inflation in India is the
responsibility of the Government of
India only

(b) The Reserve Bank of India has no role in
controlling the inflation

(c) Decreased money circulation helps in
controlling the inflation

(d) Increased money circulation helps in
controlling the inflation

Consider the following countries.

China

France

India

Israel

Pakistan

Which among the above are Nuclear
Weapons States as recognized by the
Treaty on the Nonproliferation of Nuclear
Weapons, commonly known as Nuclear
Non-Proliferation Treaty (NPT)?

(a) 1and2only

(b) 1,3,4and 5 only

(c) 2,4and5only

(d) 1,2,3,4and 5

The ideal of “Welfare State” in the Indian
Constitution is enshrined in its

(a) Preamble

(b) Directive Principles of State Policy

(c) Fundamental Rights

(d) Seventh Schedule

The substitution of steel for wooden ploughs

in agricultural production is an example of

(a) labour-augmenting technological
progress

(b) capital-augmenting technological
progress

(c) capital-reducing technological progress

(d) None of the above

There is a Parliamentary System of
Government in India because the

(a) Lok Sabha is elected directly by the
people

Ol W=
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(b) Parliament can amend the constitution

(c) Rajya Sabha cannot be dissolved

(d) Council of Ministers is responsible to the
Lok Sabha

HIN1 virus is sometimes mentioned in the
news with reference to which one of the
following diseases?
(a) AIDS

(c) Dengue

(b) Bird flu
(d) Swine flu

With reference to bio-toilets used by the
Indian Railways, consider the following
statements:

1. The decomposition of human waste in
the bio-toilets is initiated by a fungal
inoculum.

2. Ammonia and water vapour are the
only end products in this decomposition
which are released into the atmosphere.

Which of the statements given above is/are

correct?

(a) 1only (b) 2 only

(c) Both1and 2 (d) Neither 1 nor 2

The problem of international liquidity is
related to the non-availability of

(a) goods and services

(b) gold and silver

(c) dollars and other hard currencies

(d) exportable surplus

With reference to ‘fuel cells’ in which

hydrogen-rich fuel and oxygen are used to

generate electricity, consider the following
statements:

1. If pure hydrogen is used as a fuel,
the fuel cell emits heat and water as
by-products.

2. Fuel cells can be used for powering
buildings and not for small devices like
laptop computers.

3. Fuel cells produce electricity in the form
of Alternating Current (AC).

Which of the statements given above is/are

correct?

(a) lonly

(c) 1and3only

(b) 2 and 3 only
(d) 1,2and 3

Kalamkari painting refers to

(a) a hand-painted cotton textile in South
India

(b) a handmade drawing on bamboo
handicrafts in North-East India

(c) ablock-painted woollen cloth in Western
Himalayan region of India

(d) a hand-painted decorative silk cloth in
North-Western India
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Which one of the following best describes
the main objective of ‘Seed Village
Concept'?

(a) Encouraging the farmers to use their
own farm seeds and discouraging them
to buy the seeds from others.

(b) Involving the farmers for training in
quality seed production and thereby to
make available quality seeds to others at
appropriate time and affordable cost.

(c) Earmarking some villages exclusively
for the production of certified seeds.

(d) Identifying the entrepreneurs in village
and providing them technology and
finance to set up seed companies.

There has been a persistent deficit budget
year after year. Which of the following
actions can be taken by the government to
reduce the deficit?

1. Reducing revenue expenditure

2. Introducing new welfare schemes

3. Rationalizing subsidies

4. Expanding industries

Select the correct Answer using the code
given below:

(a) 1and 3 only (b) 2 and 3 only

(c) lonly (d) 1,2,3and 4

Which of the following has/have been
accorded ‘Geographical Indication’ status?
1. Banaras Brocades and Sarees

2. Rajasthani Daal-Bati-Churma

3. Tirupathi Laddu

Select the correct Answer using the code
given below:

(a) Tonly (b) 2 and 3 only

(c) land3only (d) 1,2and 3

With reference to the Indian Renewable

Energy Development Agency Limited

(IREDA), which of the following statements

is/are correct?

1. It is a Public Limited Government
Company.

2. ItisaNon-Banking Financial Company.

Select the correct answer using the code

given below:

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 or2

Pradhan Mantri Jan Dhan Yojana has been

launched for

(a) providing housing loan to poor people
at cheaper interest rates
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(b) promoting women’s Self Help Groups
in backward areas

(c) promoting financial inclusion in the
country

(d) providing financial help to marginalised
communities

With reference to the Fourteenth Finance

Commission, which of the following

statements is/are correct?

1. It hasincreased the share of States in the
central divisible pool from 32 percent to
42 percent

2. It has made recommendations
concerning sector-specific grants

Select the correct Answer using the code

given below:

(a) 1only (b) 2 only

(c) Both 1and 2 (c) Neither 1 nor 2

The ‘Fortaleza Declaration” recently in the

news, is related to the affairs of

(a) ASEAN (b) BRICS

(c) OECD (d) WTO

A decrease in tax to GDP ratio of a country

indicates which of the following?

1. Slowing economic growth rates

2. Less equitable distribution of national
income

Select the correct Answer using the code

given below:

(a) 1only (b) 2 only

(c) Bothland2  (d) Neither 1 nor 2

In the South Atlantic and South Eastern

Pacific regions in tropical latitudes, cyclone

does not originate. What is the reason?

(a) Sea Surface temperature are low

(b) Inter Tropical Convergence
seldom occurs

(c) Coriolis force is too weak

(d) Absence of land in those regions

Zone

Which of the following pairs of States
of India indicates the Easternmost and
Westernmost State?

(a) Assam and Rajasthan

(b) Arunachal Pradesh and Rajasthan

(c) Assam and Gujarat

(d) Arunachal Pradesh and Gujarat

Consider the following statements

regarding the DPSP/Directive Principles of

State Policy:

1. The principles spell out the
socio-economic democracy in the
country.
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2. The provisions contained in these
principles are not enforceable by any
court.

Which of the statements given below are

correct?

(a) 1only (b) 2 only

(c) Bothland2 (d) Neither 1 nor 2

In the Index of Eight Core Industries, which
one of the following is given the highest
weight?

(a) Coal Production

(b) Electricity Generation

(c) Fertilizer Production

(d) Steel Production

Which of the following National Parks is
unique in being a swamp with floating
vegetation that supports a rich biodiversity?
(a) Bhitarkanika National Park

(b) Keibul Lamjao National Park

(c¢) Keoladeo Ghana National Park

(d) Sultanpur National Park

Which of the following statements is/are
correct regarding National Innovation
Foundation-India (NIF)?

1. NIF is an autonomous body of the
Department of Science and Technology
under the Central Government.

2. NIF is an initiative to strengthen the
highly advanced scientific research in
India’s premier scientific institutions
in collaboration with highly advanced
foreign scientific institutions.

Select the correct Answer using the code

given below:

(a) lonly (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

What can be the impact of excessive/

inappropriate use of nitrogenous fertilizers

in agriculture?

1. Proliferation of nitrogen-fixing
microorganisms in soil can occur.

2. Increase in the acidity of soil can take
place.

3. Leaching of nitrate to the ground water
can occur.

Select the correct Answer using the code

given below:

(a) 1and3only (b) 2 only

(c) 2and3only (d) 1,2and 3

With reference to the International Union
for Conservation of Nature and Natural
Resources (IUCN) and the Convention on

63.
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International Trade in Endangered Species
of Wild Fauna and Flora (CITES), which of
the following statements is/are correct?

1. IUCN is an organ of the United Nations
and CITES is an international agreement
between governments.

2. IUCN runs thousands of field projects
around the world to better manage
natural environments.

3. CITES is legally binding on the States
that have joined it, but this Convention
does not take the place of national laws.

Select the correct Answer using the code

given below:

(a) 1only

(c) 1and 3 only

(b) 2 and 3 only
(d) 1,2and 3

The Fair and Remunerative Price of

Sugarcane is approved by the

(a) Cabinet Committee on Economic Affairs

(b) Commission for Agricultural Costs and
Prices

(c) Directorate of Marketing and Inspection,
Ministry of Agriculture

(d) Agricultural Produce
Committee

Marketing

What explains the eastward flow of the

equatorial counter-current?

(a) The Earth’s rotation on its axis

(b) Convergence of the two equatorial
currents

(c) Difference in salinity of water

(d) Occurrence of the belt of calm near
equator

Consider the following pairs:

Place of Pilgrimage Location
1. | Srisailam Nallamala Hills
2. | Omkareshwar Satmala Hills
3. | Pushkar Mahadeo Hills

Which of the above pairs is/are correctly
matched?

(a) 1only (b) 2 and 3 only

(c) 1and 3 only (d) 1,2and 3

With reference to Rowlatt Satyagraha,
which of the following statements is/are
correct?

1. The Rowlatt Act was based on the

recommendations of the ‘Sedition
Committee’.

2. In Rowlatt Satyagraha Gandhiji tried to
use the Home Rule League.
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3. Demonstrations against the Simon
Commission coincided with the Rowlatt
Satyagraha.

Select the correct answer using the code

given below:

(a) lonly (b) 1and 2 only

() 2and 3 only (d) 1,2and 3

Among the following which were frequently
mentioned in the news for the outbreak of
Ebola virus recently?

(a) Syria and Jordan

(b) Guinea, Sierra Leone and Liberia

(c) Philippines and Papua New Guinea

(d) Jamaica, Haiti and Surinam

With reference to ‘fly ash’ produced by the

power plants using the coal as fuel, which

of the following statements is/are correct?

1. Fly ash can be used in the production of
bricks for building construction

2. Fly ash can be used as a replacement for
some of the Portland cement contents of
concrete

3. Fly ash is made up of silicon dioxide and
calcium oxide only, and does not contain
any toxic elements.

Select the correct Answer using the code

given below

(a) 1and2only (b) 2 only

(d) 3 only

With reference to’dugong’, amammal found

in India, which of the following statements

is/are correct?

() 1and3only

1. Itis a herbivorous marine animal.

2. Itisfound along the entire coast of India.

3. It is given legal protection under
Schedule 1 of the Wildlife (Protection)
Act, 1972.

Select the correct answer using the code

given below:

(a) 1and2only

(c) 1and3only

(b) 2 only

(d) 3 only

Who of the following was/were economic
critic/critics of colonialism in India?

1. Dadabhai Naoroji

2. G. Subramania Iyer

3. R.C.Dutt

Select the correct answer using the code
given below:
(a) 1only

(c) 2and3only

(b) 1and 2 only
(d) 1,2and 3
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Which one of the following issues the

“Global Economic Prospects” report

periodically?

(a) The Asian Development Bank

(b) The European Bank for Reconstruction
and Development

(c¢) The US Federal Reserve Bank

(d) The World Bank

When the Reserve Bank of India reduces

the Statutory Liquidity by 50 basis points,

which of the following is likely to happen?

(a) India’'s GDP growth rate increases
drastically.

(b) Foreign Institutional Investors may
bring more capital into our country.

(c) Scheduled Commercial Banks may cut
their lending rates.

(d) It may drastically reduce the liquidity to
the banking system.

With reference to the use of nanotechnology

in health sector, which of the following

statements is/are correct?

1. Targeted drug delivery is made possible
by nanotechnology.

2. Nanotechnology can largely contribute
to gene therapy.

Select the correct answer using the code

given below:

(a) 1only (b) 2 only

(c) Bothland2  (d) Neither 1 nor2

In India, markets in agricultural products

are regulated under the

(a) Essential Commodities Act, 1955

(b) Agricultural Produce Market Committee
Act enacted by States

(c) Agricultural Produce (Grading and
Marking) Act, 1937

(d) Food Products Order, 1956 and Meat
and Food Products Order, 1973

Which one of the following is the national

aquatic animal of India?

(a) Saltwater crocodile

(b) Olive ridley turtle

(c) Gangetic dolphin

(d) Gharial

With reference to Congress Socialist Party,

consider the following statements:

1. Itadvocated the boycott of British goods
and evasion of taxes.

2. It wanted to establish the dictatorship of
proletariat.

3. It advocated separate electorate for
minorities and oppressed classes.
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Which of the statements given above is/are
correct?

(a) 1and2only (b) 3 only

(c) 1,2and 3 only (d) None of the above

Consider the following statements:

1. The Rajya Sabha has no power either to
reject or to amend a Money Bill.

2. The Rajya Sabha cannot vote on the
Demands for Grants.

3. The Rajya Sabha cannot discuss the
Annual Financial Statement.

Which of the statements given above is/are

correct?

(a) 1only

(b) 1and2only

() 2and 3 only

(d) 1,2and 3

The Government of India Act of 1919 clearly

defined

(a) the separation of power between the
judiciary and the legislature

(b) the jurisdiction of the central and
provincial governments

(c) the powers of the Secretary of State for
India and the Viceroy

(d) None of the above

Which of the following brings out the

‘Consumer Price Index Number for the

Industrial Workers'?

(a) The Reserve Bank of India

(b) The Department of Economic Affairs

(c) The Labour Bureau

(d) The department of Personnel and
Training

In the context of modern scientific research,

consider the following statements about

‘IceCube’, a particle detector located at

South Pole, which was recently in the news:

1. [Itisthe world’s largest neutrino detector,
encompassing a cubic kilometre of ice.

2. It is a powerful telescope to search for
dark matter.

3. Itisburied deep in the ice.

Which of the statements given above is/are

correct?

(a) 1only

() 1and3only

(b) 2 and 3 only
(d) 1,2 and 3 only

The terms ‘Agreement on Agriculture’,
‘Agreement on the Application of Sanitary
and Phytosanitary Measures’ and Peace
Clause’ appear in the news frequently in
the context of the affairs of the.

82.

83.

84.

85.

86.

(a) Food and Agriculture Organization

(b) United Nations Framework Conference
on Climate Change

(c) World Trade Organization

(d) United Nations Environment
Programme
With reference to ‘Near Field

Communication (NFC) Technology’, which

of the following statements is/are correct?

1. It is a contactless communication
technology that uses electromagnetic
radio fields.

2. NEFC is designed for use by devices
which can be at a distance of even a
metre from each other.

3. NFC can use encryption when sending
sensitive information.

Select the correct answer using the code

given below:

(a) 1and 2 only

(c) 1and 3 only (d) 1,2and 3

The area known as ‘Golan Heights’

sometimes appears in the news in the

context of the events related to

(a) Central Asia (b) Middle East

(c) South-East Asia (d) Central Africa

Convertibility of rupee implies:

(a) being able to convert rupee notes into
gold

(b) allowing the value of rupee to be fixed
by market forces

(c) freely permitting the conversion of
rupee to other currencies and vice versa

(d) developing an international market for
currencies in India

(b) 3 only

Consider the following pairs:

Medieval Indian State | Present Region

1. | Champaka Central India

2. | Durgara Jammu

3. | Kuluta Malabar
Which of the above pairs is/are correctly
matched?

(a) 1and2only (b) 2 only

(c) 1and3only (d) 3 only

Consider the following rivers:

1. Vamsadhara 2. Indravati

3. Pranahita 4. Pennar

Which of the above are tributaries of
Godavari?

(@) 1,2and 3 only (b) 2,3 and 4 only

(c) 1,2and4only (d) 2and 3 only
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87.

88.

89.

90.

91.

92.

93.

When a bill is referred to a joint sitting

both the Houses of the Parliament, has to be

passed by

(a) a simple majority of member present
and voting

(b) three-fourths majority of member
present and voting

(c) two-thirds majority of the House

(d) absolute majority of the House

Which one of the following regions of India

has a combination of mangrove forest,

evergreen forest and deciduous forest?

(@) North Coastal Andhra Pradesh

(b) South-West Bengal

(c) Southern Saurashtra

(d) Andaman and Nicobar Islands

Which of the following kingdoms were
associated with the life of Buddha?

1. Avanti 2. Gandhara

3. Kosala 4. Magadha

Select the correct answer using the code
given below:

(a) 1,2and 3 only (b) 2and 3 only

() 1,3and4only (d) 3and4 only

Which one of the following is associated
with the issue of control and phasing out of
the use of ozone-depleting substances?

(a) Bretton Woods Conference

(b) Montreal Protocol

(c) Kyoto Protocol

(d) Nagoya Protocol

Consider the following:

The arrival of Babur into India led to the

1. introduction of gunpowder.

2. introduction of the arch and dome in
the region’s architecture.

3. establishment of Timurid dynasty.

Select the correct answer using the code

given below:

(a) 1and2only (b) 3 only

(c) 1land3only (d) 1,2and 3

The Government of India has established

NITI Aayog to replace the

(a) Human Rights Commission

(b) Finance Commission

(c) Law Commission

(d) Planning Commission

What is Rio+20 Conference,
mentioned in the news?

often

(a) It is the United Nations Conference on
Sustainable Development.

94.

95.

96.

97.

98.
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(b) It is a Ministerial Meeting of the World
Trade Organization.

(c) It is a Conference of the
Inter-governmental Panel on Climate
Change.

(d) It is a Conference of the Member
Countries of the Convention on
Biological Diversity.

Consider the following statements:

1. The Executive Power of the Union of
India is vested in the Prime Minister.

2. The Prime Minister is the ex officio
Chairman of the Civil Services Board.

Which of the statements given above is/are

correct?

(a) 1only

(b) 2only

(c) Both1and 2

(d) Neither 1 nor 2

The term ‘Goldilocks Zone’ is often seen in

the news in the context of

(a) the limits of habitable zone above the
surface of the Earth

(b) regions inside the Earth-like planets in
outer space

(c) search for the Earth-like planets in outer
space

(d) search for
precious metals

meteorites  containing

Who of the following organized a march on
the Tanjore coast to break the Salt Law in
April 1930?

(a) V. O Chidambaram Pillai

(b) C.Rajagopalachari

() K. Kamaraj

(d) Annie Besant

Who of the following founded a new city on
the south bank of a tributary to river Krishna
and undertook to rule his new kingdom as
the agent of a deity to whom all the land
south of the river Krishna was supposed to
belong?

(a) Amoghavarsha I

(b) Ballala II

(c) Hariharal

(d) Prataparudra Il

Consider the following statements:

1. The first woman President of the Indian
National Congress was Sarojini Naidu.
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2. The first Muslim President of the Indian

National Congress was Badruddin
Tyabji.
Which of the statements given above is/are
correct?
(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

99.  Which of the following statements regarding

‘Green Climate Fund’ is/are correct?

1. It is intended to assist the developing
countries in adaptation and mitigation
practices to counter climate change.

2. It is founded under the aegis of UNED
OECD, Asian Development Bank and
World Bank.

100.
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Select the correct Answer using the code given
below:

(a) 1only
() Bothland2  (d) Neither 1 nor2
Indira Gandhi Peace Prize for Peace,
Disarmament and Development for 2014
was given to which of the following?

(a) Bhabha Atomic Research Centre

(b) Indian Institute of Science

(c) Indian Space Research Organization

(d) Tata Institute of Fundamental Research

(b) 2 only



General Studies Paper-I : 2015

Q.No. Response

. @POO| |6 @O OO| |51. @O OO | |76. @ ® © @
2 @OOO| |27 @O OO| |52 @®OO©O| |77 ®@® © O
3. @QOOO| |8 @OOO| |83 @0OQO| |78 @® ©Q
4. @QOOOD| |29 @OPOO| |4 @O®OQA@| 799 @® OO
5 @®O©O@| (3. @ @O@| |55 @ ©Q@ | |80 @® OO
6 @O®OO| |31 @OOO| |56 @O | |81. @ ® © @
7. @®@OO| |32 @OPOO| |57 @ OO | |82 @® © O
8. @O®OO@| 33 @®O©O@| (588 @®© | |82 @ ® © @
9. @OOO@| (3 @0® OGO 5. @ ® © @ 8. @ ® @ @
10. @O@O| |35. @O OD| (600 @O D| |88 @ ® © O
"N @® | |36 @ OO 6. @ ® © @ 8. @ ® © @
12 @OOO| (37 @O OOD| (62 @O OD| |87 @ ® © O
3. @OOO| |38 @O OD| (63 @O®OOD| |88 @® ©©O
4. @® ©O@| |30. @® © O 6. @ ® © @ 8. @ ® ©@ @
5. @ @O| (490 @O®OD| (656 @O D| |90 @® O
6. @® O O| |41 @® O @] |66. @D O @| |91 @® O @
17 @® ©O| |2 @® © O 67. @ ® © @ 2. @® © O
8. @O 8 @OOOD| (868 @®OD| |83 @® O
9. @O OO| |4 @O®OO@| |69 @O O©Q@| |4 @® O O
2. @O |45 @0 OO 70. @ ® © @ 9%5. @ ® © O
2. @ @O@| |46 @® © O M. @®©O %6. @ ® © @
2 @OOO| |7 @OOO| |72 @@ OO | |97 @® © O
2. @O (48 @O OO 3. @ ®©O 8. @ ®©O
2. @OOO@| [49 @0 OO 74. @ ® © @ 9. @ ® © @
25-@@@)@) 5. @ ® © @ 75. @ ® © @ \100-@@@)@)

OMR SHEET

Darken the circle for each question.

Q.No. Response

Q.No. Response

Q.No. Response

267




268

UPSC (CSE PRELIMS) SOLVED PAPERS GENERAL STUDIES PAPER-I

ANSWERS WITH EXPLANATION

Option (a) is correct.

Explanation: The Cabinet Mission came to
India in 1946. It came to discuss the transfer
of power from the British government to
the Indian political leadership. It had an aim
of preserving India’s unity and granting its
independence. The mission was formed at
the initiative of Clement Attlee (the then
Prime Minister of the United Kingdom). Lord
Pethick-Lawrence (Secretary of State for India),
Sir Stafford Cripps (President of the Board of
Trade), and A.V. Alexander (First Lord of the
Admiralty) were the members of the Cabinet
Mission to India.

Recommendations of Cabinet Mission:
The solidarity of India must be held.

It proposed a free association of all the Indian
domains under a middle that would control
and safeguard, the Foreign Affairs and
communication.

All subjects other than Union subjects and
residuary force would vest in the regions of
British India.

The Princely Legislatures would then
choose a Constituent Assembly or a
Constitution-making body with every territory
being dispensed a predefined number of seats
proportionate to its populace.

The proposed Constituent Assembly was to
comprise 292 parts from British India and 93
from the Indian States.

The Mission proposed a prompt development
of the Interim Government in the middle with
the Indians holding all the portfolios.

Option (d) is correct.

Explanation: Khangchendzonga and
Nandadevi National park do not have tropical
vegetation.

Namdapha National Park is the largest
protected area in the Eastern Himalaya
biodiversity hotspot. It is located in Arunachal
Pradesh in Northeast India.

Namdapha National Park is also known for
extensive Dipterocarp forests. It comprises
the northwestern parts of the ecoregion of
Mizoram-Manipur-Kachin rain forests.
Option (b) is correct.

Explanation: ~ Amnesty International is
a London based Non-Governmental
Organisation founded in 1961.

It aims to create a world where every person
enjoys all of the human rights enshrined in
the Universal Declaration of Human Rights
(UDHR).

It conducts research, generates action to
prevent grave abuses of human rights and
demands justice for those whose rights have
been violated.

The organization was awarded the Nobel Peace
Prize in 1977 for its “Defence of human dignity
against torture” and the United Nations Prize
in the field of Human Rights in 1978.

Option (b) is correct.

Explanation:

Figure: Lingaraja Temple at Bhubaneswar
P S e

Figure: Rock-cut Monuments at Mahabalipuram
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Figure: Varaha Image at Udayagiri

Restructure all the temples chronologically
Rock-cut Elephant:

It is the earliest Buddhist sculpture of Odisha
and the earliest among the four options.

Lingaraja Temple:
Lingaraj Temple was created in the 11th
century AD. It is dedicated to Lord Shiva. It

is considered as the largest temple of the city
Bhubaneswar.

It was built by the Somvanshi King Yayati I.
Rock-cut Monuments at Mahabalipuram

These monuments were bullt by the King
Pallava Narsimha in the 7" and 8™ centuries.

Varaha Image at Udayagiri is located in the
Vidisha district of Madhya Pradesh. It was the
personal temple of King Chandra Gupta II. He
ruled from 376-415 C.E around 5th century
AD.

Option (b) is correct.

Explanation: The terms feudalism and feudal
system were generally applied to the early
and central Middle Ages—the period from the
5th century, when central political authority in
the Western empire disappeared, to the 12th
century, when kingdoms began to emerge as
effective centralized units of government .

Feudalism was a way of structuring society
around relationships. The relationship is
derived from the holding of land in exchange
for service or labour (lord-vassal relationship).

It is a European concept where the landed
nobility held lands from the Crown in
exchange for military service, and vassals were
in turn tenants of the nobles. The peasants
(villeins or serfs) were obliged to live on their
lord’s land and give him homage, labour, and
a share of the produce, notionally in exchange
for military protection.

Feudalism emerged as a result of the
decentralization of an empire.
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Option (d) is correct.
Explanation: The Bio Carbon Fund was
established in 2004. It was the first carbon
fund established in the world.

The BioCarbon Fund Initiative for Sustainable
Forest Landscapes (ISFL) is a multilateral
fund, supported by donor governments
and managed by the World Bank. It seeks to
promote reduced greenhouse gas emissions
from the land sector, from deforestation and
forest degradation in developing countries
(REDD+), and from sustainable agriculture,
as well as smarter land-use planning, policies
and practices.

Option (b) is correct.

Explanation:
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Figure: East Asia Summit Members

India is a member of East Asia Summit and
ASEAN+6, not ASEAN.

The Asia-Pacific Economic Cooperation is an
inter-governmental forum for 21 member
economies in the Pacific Rim that promotes
free trade throughout the Asia-Pacific region.

The Association of Southeast Asian Nations is
a regional organization which was established
to promote political and social stability amid
rising tensions among the Asia-Pacific’s
post-colonial states.
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ASEAN was established in 1967 with the
signing of the ASEAN Declaration (Bangkok
Declaration) by its founding fathers
(Indonesia, Malaysia, Philippines, Singapore
and Thailand).

East Asia Summit:

It is a forum of 18 regional leaders, established
in 2005, for strategic dialogue and cooperation
on the key political, security, and economic
challenges facing the Indo-Pacific region.

The then Malaysian Prime Minister, Mahathir
bin Mohammad first promoted the concept of
East Asia grouping in 1991.

There are six priority areas of regional
cooperation within the framework of the EAS.
Option (c) is correct.

Explanation: Saltpeter (Potassium nitrate) is
not used in the production of steel. It is used
in fertilizers, tree stump removal, rocket
propellants and fireworks. Saltpeter is one
of the major constituents of gunpowder
(blackpowder). It has also been used as a food
preservative since the Middle Ages.

India imports coking coal for steel production
industry.

It takes 0.8 tonnes coking coal to produce one
tonne of steel.

Option (a) is correct.

Explanation: Schedules: Provisions

First Schedule: The first schedule lists the
states and territories of India.

Second Schedule: The second schedule lists
the emoluments for holders of constitutional
offices.

Third Schedule: This schedule lists the
various forms of oath for holders of various
constitutional offices.

Fourth Schedule: The fourth schedule
enumerates the allocation of Rajya Sabha seats
to States or Union Territories.

Fifth Schedule: It contains the administration
and control of Scheduled Areas and Scheduled
Tribes.

Sixth Schedule: This schedule comprises
provisions for the administration of tribal areas
in Assam, Meghalaya, Tripura and Mizoram.

Seventh Schedule: It contains three lists; i.e.,
1) Union List, 2) State List and 3) Concurrent
List.

Eighth Schedule: It lists the official languages
of the Republic of India.

Ninth Schedule: It covers state laws and
regulations relating to land reform and the
dismantling of the zamindari system.

Tenth Schedule: Anti defectionlaw,introduced

10.

by the 52" Constitutional Amendment Act of
1985.

Eleventh Schedule: It provisions that specify
the Panchayats’ powers, authority, and
responsibilities in order for them to function
as local governments.

Twelfth Schedule: It contains provisions that
define the Municipalities’ powers, authority,
and responsibilities in order for them to
function as local governments.

Option (c) is correct.

Explanation: The budget is referred to in
the Constitution as the “Annual Financial
Statement.”

In India, the Union Budget is prepared by
the Department of Economic Affairs of the
Ministry of Finance. The Finance Secretary
coordinates the overall Budget-making
process.

The constitution establishes three types of
funds — Consolidated Fund of India; Public
Account; Contingency Fund.

Consolidated Fund of India:

Itis a fund in which all revenues and payments
are credited and debited. It is made up of -

All revenues received by the government of
India;

All loans raised by the government through
the issue of treasury bills, loans, or other ways
and means of advances; and

All money received by the government in
repayment of loans. This fund is used to make
all legally authorized payments on behalf of
the Indian government.

No money from this fund can be allocated
(issued or drawn) unless a parliamentary
statute authorizes it.

It is constituted under Article 266 (1) of the
Constitution of India.

Each state can establish its own Consolidated
Fund with identical features.

The Comptroller and Auditor General of India
audits the consolidated funds and reports
on their management to the appropriate
legislatures.

Public Account of India:

The Public Account of India keeps track of flows
for transactions in which the government only
serves as a banker.

Deposits in provident funds, judicial deposits,
savings bank deposits, departmental deposits,
and remittances are all examples of this.
Article 266 (2) of the Constitution established
this fund.

Payments from it can be made without the
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11.

12.

need for parliamentary appropriation. The
majority of these payments come in the form
of banking transactions.

Each state may have its own version of a
public account.

The Comptroller and Auditor General is in
charge of auditing all expenditures from the
Public Account of India.

There are five major heads of accounts under
the Public Account:

(i) Small Savings, Provident Fund, and
Other Accounts

(i) Reserve Funds
(iii) Deposits and Advances
(iv) Suspense and Miscellaneous

(v) Remittances
Option (d) is correct.

Explanation: The Supreme Court of India is
the supreme judicial body of the Republic of
India under the constitution.

Itis the judiciary that safeguards the interest of
citizens by not allowing the other organs to go
beyond their role assigned in the Constitution.
In brief, the Supreme Court of India is the
logical and primary custodian of the Indian
Constitution, while also being its interpreter
and guardian.

Parliament enjoys the authority to amend
the Constitution; the Supreme Court has
the authority to examine the validity of
constitutional amendments. The Supreme
Court ensures that the other branches of
government perform their responsibilities in
accordance with the Constitution.

Option (b) is correct.

Explanation: The Accelerated Irrigation
Benefits Program (AIBP) was launched by the
government of India in 1996-97. It provided
loan assistance to the states to help them in
few major irrigation projects which were in
advanced stage of completion.

The Accelerated Irrigation Benefit Programme
(AIBP) is under the Ministry of Water
Resources, River Development & Ganga
Rejuvenation (now Ministry of Jal Shakti).

A Centrally-sponsored scheme, the Command
Area Development Programme, was launched
in 1974-75. Its main objectives were improving
the utilization of created irrigation potential
and optimizing agriculture production and
productivity from irrigated agriculture. It was
done through a multidisciplinary team under
an Area Development Authority.

The Programme was restructured as
“Command Area Development and Water

13.

14.

15.
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Management (CADWM) Programme” from
1 April 2004.

Option (c) is correct.

Explanation: The Genetic Engineering
Appraisal Committee (GEAC) is the apex body
constituted under the Environment Protection
Act, 1986. It is constituted under the Ministry
of Environment and Forest.

It is the apex body for approval of activities
involving large scale use of hazardous
microorganisms  and  recombinants  in
research and industrial production from the
environmental angle. The committee is also
responsible for the appraisal of proposals relating
to the release of Genetically Engineered (GE)
organisms and products into the environment
including experimental field trials.

Option (c) is correct.
Explanation:

O The six member-countries of the MGC
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Figure: The Mekong-Ganga Cooperation
Members
The Mekong-Ganga Cooperation takes its
name from the Ganga and the Mekong, the
two civilizational rivers in Southeast Asia.

The Mekong-Ganga Cooperation (MGC) was
established on November 10, 2000 at Vientiane
at the First MGC Ministerial Meeting. The
cooperation comprises six member namely
India, Thailand, Myanmar, Cambodia, Laos
and Vietnam. These member countries have
emphasised on four areas of cooperation,
which are tourism, culture, education, and
transportation.

Option (b) is correct.

Explanation: A global, voluntary regulatory
framework on bank capital adequacy, stress
testing and market liquidity risk is known as
Basel III Accord or the Third Basel Accord. It
is an effort for strengthening the international
banking system, and was agreed upon by the
members of the Basel Committee on Banking
Supervision in 2010-11.
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17.
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These guidelines were the response to the
2008 financial crisis.

There was a need to strengthen the system
because banks in developed economies were
under capitalized, over-leveraged, and relied
more on short-term funding.

The guidelines are intended to promote a
more resilient banking system by focusing
on four critical banking parameters: capital,
leverage, funding, and liquidity.

Option (b) is correct.
Explanation:
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Figure: Major Pressure Belt and Wind System

The winds blowing from the sub-tropical
high pressure belts towards the sub polar low
pressure belts are known as westerlies.

The westerlies blow from south-west to
north-east and north-west to south-east in
the northern hemisphere and the southern
hemisphere, respectively.

The westerlies blow between 40° and 65°S
latitudes. These latitudes are often known as
Roaring Forties, Furious Fifties, and Shrieking
Sixties (dreaded terms for sailors).

There are many seasonal and short-term
fluctuations in the poleward boundary of the
westerlies. These winds produce wet spells
and variability in weather.

The western cyclonic disturbances are
weather phenomena of the winter months
brought in by the westerly flowing from the
Mediterranean region. They usually influence
the weather of the north and north-western
regions of India. They are a non-monsoonal
precipitation pattern driven by the westerlies.

Option (d) is correct.

Explanation:  The
Association  for

Ocean Rim
Cooperation

Indian
Regional

18.

19.

(IOR-ARC) was first established as the
Indian Ocean Rim Initiative in Mauritius
on March 1995 and formally launched on
6-7 March 1997. It is an international
organization consisting of coastal states
bordering the Indian Ocean.

It has 22 member states.

Its Secretariat is based in Cyber City, Ebene,
Mauritius.

It manages, coordinates, services and monitors
the implementation of policy decisions, work
programmes and projects adopted by the
member states.

The association gains importance by the
fact that the Indian Ocean carries half of
the world’s container ships, one-third of the
world’s bulk cargo traffic and two-thirds of
the world’s oil shipments.

There were six priority areas identified at the
11th Council of Ministers, in Bengaluru are:

Maritime Safety & Security,
Trade & Investment Facilitation,
Fisheries Management,

Disaster Risk Management,
Academic, Science & Technology,
Tourism & Cultural Exchanges

Gender Empowerment

Option (a) is correct.

Explanation: The Surat Split was the split of
the Indian National Congress (INC) between
Moderates and Extremists in 1907. This
split happened due to disagreements in the
methods for protest against the partition of
Bengal (in the Swadeshi Movement).

There was a time of disagreement among
Moderates and Extremists in the years 1905-
1907.

The Extremists wanted to extend the Swadeshi
and the Boycott Movement from Bengal to
the rest of the country while the Moderates
wanted to confine the boycott part of the
movement to Bengal.

Option (a) is correct.
Explanation:

A

Figure: Living Root Bridges, Meghalaya
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The double-decker and single-decker root
bridges of Meghalaya are unique in the
world. The local people train the massive
thick of living tree into robust bridges across
the streams, and those bridges that can hold
several people at a time. Khasi tribe is trained
to grow these bridges across the raised banks
of streams. These bridges are made from
the roots of the Ficus elastic tree. This tree
produces a series of secondary roots that are
perched atop huge boulders along the streams
or the riverbanks to form bridges.

The bridges are alive and still growing and
gain strength over time, that is why they are
called 'Living Root Bridges'

Option (d) is correct.
Explanation:

Combined gravitational
pull of the Sun and the Moon

Low Tide

@

Low Tide

Figure: Tides and their Cause

Tides are the rise and fall of sea levels. It is
the combined effects of gravitational forces
exerted by the Moon, Sun, and the rotation of
the Earth.

Together, The gravitational pull by the sun
and the moon and the centrifugal force are
responsible for creating the two major tidal
bulges on the Earth. The centrifugal force acts
opposite to gravitational pull of Earth.

The ‘tide-generating’ force is the difference
between the gravitational attraction of the
Moon and the centrifugal force.

Option (a) is correct.

Explanation: The first civilian IRS-1A was
launched in March 1988. It marked the
beginning of a successful journey in the course
of the Indian Space Programme.

The National Natural Resources Management
System (NNRMS) carries out the Indian earth
Observation activities.

The Indian Earth Observation (EO) system
is providing operational services to the user
community.

The Indian Remote Sensing series of satellites
provide data in a variety of spatial, spectral
and temporal resolutions.

The National Remote Sensing Centre
(NRSC) distributes remote sensing satellite

22.

23.
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data products in India and its neighboring
countries.

The Indian Space programme has two major
operational systems - the Indian National
Satellite (INSAT), which is a geostationary
satellite is wused for telecommunication,
television broadcasting, and meteorological
services and the Indian Remote Sensing
Satellite (IRS) for monitoring and management
of natural resources (e.g. locating ground
water resources, mineral exploration etc.) and
Disaster Management Support.

Option (c) is correct.

Explanation:

Tropical Wet Evergreen Forests or Rain
Forests-

Climatic Conditions:

e  Annual rainfall exceeds 250 cm

e The annual temperature is about
25°-27°C

e  The average annual humidity exceeds 77
per cent

e The dry season is distinctly short.

Characteristics:

e The trees of these forests do not shed
their leaves together due to high heat
and high humidity.

e Plants adapted to neither too dry nor too
wet type climate.

e The trees often reach 45 — 60 metres in
height.

Distribution:

e  Western side of the Western Ghats (500 to
1370 metres above sea level).

e  Some regions in the Purvanchal hills.The
Purvanchal Range, or Eastern Mountains
is a sub-mountain range of the Himalayas
in northeast India. It lies south of the
Brahmaputra valley.

e Inthe Andaman and Nicobar Islands.

Option (d) is correct.
Explanation:

Figure: IndARC (first underwater moored
observatory in the Arctic region)
IndARC was deployed in 2014 at Kongsfjorden
fjord, Svalbard, Norway. Its goal is to study
the Arctic climate and its influence on the

monsoon.
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The collection of real-time data on seawater
temperature, salinity, ocean currents and
other vital parameters of the fjord will be done
by IndARC.

Option (c) is correct.

Explanation: The Forest Carbon Partnership
Facility is a global partnership of governments,
businesses, civil society, and Indigenous
Peoples focused on reducing emissions from
deforestation and forest degradation, forest
carbon stock conservation, the sustainable
management of forests, and the enhancement
of forest carbon stocks in developing countries
(activities commonly referred to as REDD+).

The four strategic objectives of the FCPF:

1. Toassist countries in their REDD+ efforts
by providing them financial and technical
assistance in building their capacity to
benefit from possible future systems of
positive incentives for REDD+.

2. To pilot a performance-based payment
system for REDD+ activities, with a view
to ensuring equitable benefit sharing and
promoting future large-scale positive
incentives for REDD+.

3. To test ways to sustain or enhance
livelihoods of local communities and
to conserve biodiversity (within the
approach to REDD+).

4. To disseminate broadly the knowledge
gained in the development of the Facility
and the implementation of Readiness
Preparation = Proposals (RPPs) and
Emission Reductions Programs (ERPs).

Option (a) is correct.

Explanation: The guidelines regarding
Classical languages are provided by the
Ministry of Culture.

At present, there are six languages that enjoy
the ‘Classical’ language status in India and
they are:

Tamil (declared in 2004), Sanskrit (2005),
Kannada (2008), Telugu (2008), Malayalam
(2013), and Odia (2014).

All the Classical Languages of India are listed
under the Eighth Schedule of the Constitution
of India.

Option (c) is correct.

Explanation: The BirdLife International was
founded in 1922 as the International Council
for Bird Preservation. It changed its name in
1993 to “BirdLife International”.

It is a global partnership of conservation
organisations to conserve birds, their habitats
and global biodiversity, working with people
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towards sustainability in the use of natural
resources. The BirdLife International is the
world’s largest partnership of conservation
organisations. It has over 120 partner
organizations.

The BirdLife International identifies the sites
known/referred to as, Important Bird and
Biodiversity Areas (IBA). This programme
aims to identify, monitor and protect a global
network of IBAs for the conservation of the
world’s birds and other wildlife.

Option (b) is correct.
Explanation:
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Option (a) is correct.
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Tropical moist deciduous forest - Climatic
Conditions:

e  Annual rainfall 100 to 200 cm.
e  Mean annual temperature of about 27°C.

e The average annual relative humidity of
60 to 75 per cent.
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e Spring (between winter and summer)
and summer are dry.

Characteristics:

e The trees drop their leaves during the
spring and early summer when sufficient
moisture is not available.

e The general appearance is bare in
extreme summers (April-May).

e  Tropical moist deciduous forests present
irregular top storey (25 to 60 m).

e Heavily buttressed trees and fairly
complete undergrowth.

e  These forests occupy a much larger area
than the evergreen forests but large tracts
under these forests have been cleared for
cultivation.

Distribution:

e Belt running along the Western Ghats
surrounding the belt of evergreen forests.

e A strip along the Shiwalik range.

e  Manipur and Mizoram,

e Hills of eastern Madhya Pradesh and
Chhattisgarh,

e  Chota Nagpur Plateau,

e  Most of Odisha,

e  Parts of West Bengal and

e Andaman and Nicobar islands.

Timber:

Teak is the most dominant species of this
forest.

Option (c) is correct.
Explanation: World Conferences on Women:

The United Nations has organized 4 world
conferences on women.

1. Mexico City, 1975

2.  Copenhagen, 1980

3. Nairobi, 1985

4.  Beijing, 1995

The 4" World Conference on Women
(WCW), of Beijing was one of the largest ever
gatherings of the United Nations.

It was a turning point for the global agenda for
gender equality and women empowerment.
The Beijing Declaration is an agenda for
women’s empowerment, was adopted
unanimously at the end of the 4™ WCW. Tt is
considered as the key global policy document
on gender equality.

Option (b) is correct.
Explanation: Equatorial Climate:

(a) Dominated by Maritime Tropical air
masses

(b) Uniform temperature throughout the
year with very little variation (Moderate
temperature).
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(c) No winter

(d) Cloudiness and heavy precipitation with
thunder and lightening (but rain soon
over)

(e) Two periods of maximum rainfall, April
and October.

(f) Each day is more or less the same with
clear morning

(g) Seabreeze

The  equatorial  vegetation

mahogany, ebony, dyewoods etc.

comprises

Option (b) is correct.

Explanation: Rate of growth of Real Gross
Domestic Product has fluctuated a lot during
the last decade and decreased significantly in
2008-09 due to the global financial crisis.
Gross Domestic Product at market prices
(in rupees) has increased and did not show
a declining trend even once during the last
decade as clearly seen from the planning
commission data.

Option (d) is correct.

Explanation: Article 171 of the Constitution of
India deals with the composition of the State
Legislative Council. As per the Article the
maximum strength of the Council shall not
exceed one-third of the total membership of
the Legislative Assembly, and the minimum
strength is fixed at 40. The constitution has
authorized the Parliament to modify the
composition of the council. However, no such
law has been made so far.

Members of the legislative council are elected
indirectly through proportional representation
by means of a single transferable vote system.
The manner in which they are elected:

(i) 1/3 are elected by the members of the
localbodiesin the state like municipalities,
district boards, etc.

(ii) 1/12"™ are elected by graduates (must
have graduated 3 years prior to the
election) residing in the state. 1/12™ are
elected by teachers (must have a working
experience of 3 years and they must be
teaching at least in a Secondary School)
residing in the state.

(iv) 1/3™ are elected by the members of the
legislative assembly of the state.

(v) the remainder, i.e., 1/6™ are nominated
by the Governor from amongst the
persons who have special knowledge
of literature, science, art, cooperative
movement and social service.

The Chairman of the State Legislative Council

is elected from amongst its members, unlike

the Vice-President who is the ex-officio

Chairman of the Rajya Sabha.
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Option (d) is correct.

Explanation: ~ The 42" Constitution
Amendment Act of 1976, has added a new Part-
IVA to the Constitution of India. Article 51A
under Part-IVA of the Constitution deals with
the Fundamental Duties. The Fundamental
Duties were incorporated in the Constitution
based on the recommendations of the Swaran
Singh Committee (1976).

The Constitution of India has provided eleven
fundamental duties. Originally there were ten
fundamental duties in the constitution, but the
86™ Amendment of 2002 added the eleventh
fundamental duty.

The third fundamental duty asks us to
uphold and protect the sovereignty, unity and
integrity of India.

Option (c) is correct.

Explanation: An ecosystem is a community
of living organisms in conjunction with the
non-living components of their environment,
interacting as a system. These biotic and abiotic
components are regarded as linked together
through nutrient cycles and energy flows.

Option (c) is correct.

Explanation: The Balwant Rai Mehta
Committee in its report in 1957 recommended
the establishment of the scheme of “democratic
decentralisation”, which ultimately came to be
known as Panchayati Raj.

The 72™ and 73™ Constitutional Amendments
provides for participation of people by
creating the 3" tier of governance. Financial
mobilization is not the fundamental
objective of PRIs, even though Panchayats
have the powers to collect revenue. Political
accountability refers to the responsibility
or obligation of government officials (both
politicians and civil servants) to the society or
face consequences.

Grass-roots democracy was established in India
to ensure citizen’s participation in governance
leading to democratic decentralization.

Option (c) is correct.

Explanation: The central bank i.e. The Reserve
Bank of India (RBI) in order to regulate the
money supply in the economy under its
monetary policy uses Monetary Policy Tools as
instruments.

Monetary Policy Tools:

Bank Rate: It is the rate at which the Reserve
Bank is willing to purchase or rediscount bills
of exchange or other commercial papers.
Statutory Liquidity Ratio (SLR): The
percentage of NDTL (Net Demand and Time
Liabilities) that a bank must keep in safe
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and liquid assets such as unencumbered
government securities, cash, and gold.

Cash Reserve Ratio (CRR): A bank is required
to maintain an average daily balance with the
Reserve Bank as a share of such percentage of
its NDTL.

Repo Rate: The (fixed) interest rate at which
commercial banks absorb overnight liquidity
from the RBI in exchange for the government
and other approved securities as collateral
under the liquidity adjustment facility (LAF).
Reverse Repo Rate: The (fixed) interest rate
at which the Reserve Bank absorbs liquidity
from banks on an overnight basis in exchange
for eligible government securities under the
LAE

Marginal Standing Deposit Facility (MSF): A
facility through which scheduled commercial
banks can borrow an additional amount of
overnight money from the Reserve Bank by
dipping into their Statutory Liquidity Ratio
(SLR) portfolio up to a certain limit at a penal
rate of interest.

Long Term Repo Operation (LTRO): The
repo rate is used to provide funds through the
LTRO.

Open Market Operation (OMO): These
include the outright purchase and sale of
government securities for the purpose of
injecting and absorbing long-term liquidity,
respectively.

Market Stabilisation Scheme (MSS):
Short-term  government securities and
treasury bills are sold to absorb longer-term
surplus liquidity resulting from large capital
inflows.

Option (c) is correct.

Explanation: Inflation targeting is a monetary
policy strategy. It is used by Central Banks for
maintaining price level within a range. The
price stability is the key objective of monetary
policy.

The Reserve Bank of India and the Government
of India signed a Monetary Policy Framework
Agreement according to which RBI would aim
to contain consumer price inflation within 6
percent and within 4 percent with a band of
(+/-) 2 percent.

Increased money supply leads to increase
in inflation. If there is an increase in money
supply, then people will have more money to
spend for the same number of goods, it will
lead to the shortage in supply, and then the
price will increase for the same good, and it
ultimately leads to inflation.

Decreased money circulation leads to less
money in the hands of people to spend. Hence,
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lower demand (given the same supply) leads
to the fall in prices and reduced inflation.

Option (a) is correct.

Explanation: The Treaty can be described to
have three objectives of non-proliferation,
disarmament and peaceful uses of nuclear
energy.

The treaty recognizes five states as
nuclear-weapon states: the United States,
Russia, the United Kingdom, France, and
China (also the five permanent members of
the United Nations Security Council).

The Treaty (NPT) institutionalised the
non-proliferation norm by de-legitimising
‘proliferation” (production and transfer) of
nuclear weapons, fissile materials and related
technology by the Non-Nuclear Weapon
States (NNWS) while the recognised five
Nuclear-Weapon States (NWS) — namely the
US, Russia, the UK, France and China, can
continue to possess nuclear weapons.

Option (b) is correct.

Explanation: The concept of a ‘welfare state’
embodies in the Directive Principles of State
Policy (DPSPs).

The functions of welfare State are not only
limited to the defence of the country or
administration of justice or maintaining law
and order, but it extends to regulating and
controlling the activities of people in almost
every sphere—educational, commercial,
social, economic, political and even marital.
The DPSP guides the state in making policies
for the socio-economic well being of the
people of India, thus promotes the ideal of a
welfare state.

The DPSP are non-justiciable, but it helps
the court in examining and determining the
constitutional validity of a law.

Option (b) is correct.

Explanation: In an economic context, “Capital”,
means a machinery or capital goods which can
be employed to produce other goods.
Substitution of steel for wooden ploughs in
agricultural production can be considered as
the substitution of a lesser machine by a better
machine. It encourages steel production.
Hence, it is a capital-augmenting technological
progress. Increasing the skills and productivity
of the existing labour is known as Labour-
augmenting.

Option (d) is correct.

Explanation: The Parliamentary System
of Government establishes a responsible
government. In a parliamentary form of
government, ministers are responsible to the
Parliament for all their acts. The Parliament
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exercises control over the ministers through
various devices like question hour, discussions,
adjournment motion, no confidence motion,
etc. Article 75 of the Indian Constitution states
that the Council of Ministers is collectively
responsibility to the Lok Sabha.

Option (d) is correct.

Explanation: Influenza A (HIN1) virus is the
most common cause of human influenza (flu).
In June 2009, the World Health Organization
(WHO) declared the new strain of swine-
origin HIN1 as a pandemic. This strain is often
called swine flu. It is a respiratory disease of
pigs caused by type A influenza viruses, i.e.,
HINI.

Typically, humans do not get infected by such
a virus that circulates among pigs, but if they
do, it is called “variant influenza virus”.

Option (d) is correct.

Explanation: The bio-toilets, are developed
by the railways and the Defence Research &
Development Organisation (DRDO). These
bio-toilets have a colony of anaerobic bacteria,
kept in a container under the lavatories.
These bacteria convert human waste into
water and small amounts of gases. The gases
are released into the atmosphere and the
water is discharged after chlorination on to
the track. The bio-digester tank in every toilet
is filled with inoculums containing four types
of bacteria. The human waste is processed by
anaerobic bacteria in seven chambers in the
tank. The methane gas is allowed to escape
into the air.

Option (c) is correct.

Explanation: ~ The term ‘International
Liquidity” means all the resources available
to national monetary authorities to finance a
deficit in a country’s international balance of
payments.

The concept of international liquidity is
associated with international payments. These
payments arise out of international trade in
goods and services and also in connection
with capital movements between one country
and another. International liquidity refers
to the generally accepted official means of
settling imbalances in international payments,
which is basically dollars and hard currencies.

Option (a) is correct.

Explanation: A fuel cell produces an electrical
current that can be directed outside the cell to
do work. The current can be used in powering
an electric motor or illuminating a light bulb
or a city.

Fuel cells generate electricity with very little
pollution-much of the hydrogen and oxygen
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used in generating electricity. This hydrogen
and oxygen ultimately combines to form
water along with releasing heat.
A fuel cell generates direct current (DC)
electricity.
The Fuel Cell combines hydrogen and oxygen
to generate an electric current and water is the
only by-product.
Hydrogen + Oxygen =
Electricity

2H, () + 02 (8) > 2H,0 ()

Water Vapour +

Option (a) is correct.
Explanation:

Figure: Kalamkari Painting
Kalamkari painting is a type of Indian folk
textile art. It involves free hand drawing
and painting or printing on cloth. It is done
mostly on cotton cloth. The word 'Kalamkari'
is derived from the Persian language meaning
‘drawing or crafting with pen’. It is developed
in India over a period of 3,000 years.

Kalahasti and Machilipatnam in Andhra
Pradesh are the nerve centres of this art.

Option (b) is correct.

Explanation: A village, wherein trained

group of fanners are involved (generally in a

self-help group) in production of seeds of

various crops and make available quality seeds

to others in appropriate time and affordable

cost is called “a seed village”.

This 'Seed Village Concept' aims at upgrading

the quality of farm-saved seeds.

Financial assistance is available under the

programme for upto one acre per farmer for

distribution of foundation/certified seeds at:

®  50% of seed cost for cereal crops

o 60% for pulses, oilseeds, fodder, and
green manure crops

Objectives of the program:

e Increasing the seed production and seed
replacement rate

e  Replacing existing local varieties with
new high yielding varieties
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e  Self-sufficiency and self-reliance of the
village

Option (a) is correct.

Explanation: A status of financial health in
which expenditures exceed revenue is known
as the budget deficit. The introduction of some
new welfare schemes will further inflate the
budget.

The expansion of industries will need more
money to spend and thus will increase the
budget deficit.

There are some ways to reduce the fiscal
burden of the government of India like
rationalizing subsidies and reducing revenue
expenditure.

Option (c) is correct.

Explanation: A geographical indication is
a tag that is accorded to identify a good as
originating from a particular place. Itis given to
the products that have a specific geographical
origin. The product also possess qualities or a
reputation that are due to that origin.

India enacted the Geographical Indications of
Goods (Reg15trat10n & Protection) Act, 1999
with effect from 15' September 2003.

The first Indian product to get the geographical
indication tag was Darjeeling Tea in 2004.

The Banaras sarees and brocades have been
assigned Geographical Indication (GI) status
in the year 2009 while Tirupathi Laddu got the
Gl tag in the year 2014.

Option (c) is correct.

Explanation: Indian Renewable
Development Agency (IREDA):
Itis a mini-ratna company set up in 1987 under
the Ministry of New and Renewable Energy
(MNRE).

It is a specialized non-banking finance agency
for the renewable energy sector.

It plays a key role in the renewable energy
project financing,.

Energy

Option (c) is correct.

Explanation: Pradhan Mantrl Jan Dhan Yojana
was announced on 15" August 2014. It is a
National Mission for Financial Inclusion to
ensure access to financial services, namely,
Banking/Savings &  Deposit  Accounts,
Remittance, Credit, Insurance, Pension in an
affordable manner.

It's objectives is to ensure access to financial
products & services at an affordable cost, and
use of technology to lower cost and widen
reach.

Option (a) is correct.
Explanation: Article 280 of the Constitution
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of India requires the constitution of a Finance
Commission every five years or earlier.
The Fourteenth Finance  Commission
of India was constituted on 2 January
2013. The commission’s chairman was
former Reserve Bank of India governor
Y. V. Reddy.
The Finance Commission is required to
recommend the distribution of the net
proceeds of taxes of the Union between the
Union and the States (commonly referred
to as vertical devolution); and the allocation
between the States of the respective shares
of such proceeds (commonly known as
horizontal devolution).
Main Recommendations of 14™ Finance
Commission:
e The 14™ Finance Commission is of the
view that tax devolution should be the
primary route for transfer of resources to

the States.
° The Commission recommends an
increase in the tax devolution of the

divisible pool to States to 42% for years
2015 to 2020. This is 10% more compared
to the 32% target set by the 13™ Financial
Commission.

e It has recommended the distribution of
grants to States for local bodies using
2011 population data with weight of 90%
and area with weight of 10%.

e  Grants divided into two namely: a basic
grant and a performance grant for gram
panchayats and municipal bodies.

e The Commission has estimated that
between 2015-2016 and 2019-2020, the
decline will be from 10.8% to 9.6% of the
GDP mainly due to reduction in subsidy
expenditure from 1.70% in 2015-2016 to
1% in 2019-2020.

Option (b) is correct.

Explanation: The 6™ BRICS summit was held
in 2014. The host city for this summit was
Fortaleza in Brazil.

The five emerging economies that form the
BRICS include Brazil, Russia, India, China
and South Africa. As a part of the Fortaleza
Declaration, these countries agreed on
creating a US$100 billion New Development
Bank (NDB) to allow the countries to bring in
resources for economic stabilisation.

One of the major organs of this declaration
came up in the form of signing an agreement
for the cooperation of the export credit
agencies of the BRICS nations. The export
credit agencies of these nations are ABGF (for
Brazil), EXIAR (for Russia), ECGC (for India),
ECIC (for South Africa), and SINOSURE (for
China).
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Option (a) is correct.
Explanation: Tax-to-GDP ratio is a gauge of
a nation’s tax revenue relative to the size of
its economy as measured by gross domestic
product (GDP). The ratio provides a useful
look at a country’s tax revenue because it
reveals potential taxation relative to the
economy.

It determines how well a nation’s government

uses its economic resources via taxation.

Developed nations typically have higher

tax-to-GDP ratios than developing nations.

If the tax to GDP ratio is low, it shows a slow

economic growth rate.

The ratio represents that the government can

finance its expenditure.

A higher tax-to-GDP ratio means that an

economy’s tax buoyancy is strong.

It only shows growth in the economy, not the

distribution of national income.

Option (b) is correct.

Explanation: Tropical cyclones are violent

storms that originate over oceans in tropical

areas and move over to the coastal areas
bringing about large scale destruction due to
violent winds (squalls), very heavy rainfall

(torrential rainfall) and storm surge.

They are irregular wind movements involving

closed circulation of air around a low pressure

centre (responsible for the wind speed). This

closed air circulation (whirling motion) is a

result of rapid upward movement of hot air

which is subjected to Coriolis force.

Conditions Favourable for Tropical Cyclone

Formation:

e Large sea surface with temperature
higher than 27° C,

e  Presence of the Coriolis force enough to
create a cyclonic vortex,

e Small variations in the vertical wind
speed,

® A pre-existing weak low-pressure area or
low-level-cyclonic circulation,

e Upper divergence above the sea level
system.

Reasons for the lack of cyclone formation in

the South Atlantic:

e Sea surface temperatures run a shade
cooler than the one ideal for tropical
cyclone formation.

e  Vorticity: Lack of pre-existing centres of
rotation in the area.

e  Absence of tropical waves.

e The Intertropical Convergence Zone
(ITZC), which shifts toward the north
in the northern summer and toward the
south in the southern summer, usually
stays at or north of the equator.

e ITCZ stays at or near the equator and
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does not shift southward over the 58. Option (b)is correct.

south Atlantic or South Pacific region. Explanation: The Eight Core Industries
Therefore, these regions do not have the comprise nearly 40.27% of the weight of items
ITCZ over them, which is a major cause included in the Index of Industrial Production
of the lack of cyclones. (IIP). These are electricity, steel, refinery
56. Option (d) is correct. products, crude oil, coal, cement, natural gas
Explanation: and fertilizers. ‘ . ‘
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. Nagarhole 5
by the Fundamental Rights. PR G . .
Article 37 of the Constitution of India says that i Ry A 1
the DPSPs are non-justiciable in nature. ! p %
RI
Some Features of DPSP: = - LEGEND
INDIAN OCEAN A namionaL eaRks
e Ideals under DPSP are what the state

This map is not to scale and is for reference only.
should keep in mind while formulating P Jor ref Y

policies and enacting laws.

e The DPSPs resemble the ‘Instruments
of Instructions’ enumerated in the
Government of India Act of 1935.

Figure: National Park in India
Keibul Lamjao National Park is the only
floating park in the world, located in Manipur,
North East India, and an integral part of
Loktak Lake.

e The DPSPs are instructions to the both It is characterized by many floating
state and legislature. decomposed plant materials locally called
e The DPSPs embody the concept of a phumdis.
‘welfare state’. The park is a swamp established by Mann
e The DPSPs are non-justiciable. Though Sharma with floating mass of vegetation
non-justiciable, it helps the court called phumdis at the south—eastern side of
in examining and determining the the Loktak Lake, which has been declared a

constitutional validity of a law. Ramsar site.
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Option (a) is correct.

Explanation: National Innovation
Foundation: It is an autonomous body under
the Department of Science and Technology
(India), Government of India. It was set up in
February 2000 in Ahmedabad, Gujarat, India.
Its objective is to provide institutional support
for scouting, spawning, sustaining and scaling
up the grassroots innovations and outstanding
traditional knowledge across the country.

The NIF conducts a biennial national
competition for grassroots green technologies
(not highly advanced) developed by farmers,
mechanics, artisans and others through
their own genius without any recourse
to professional help. It validates these
innovations with the help of experts, and,
ascertains the novelty in these innovations
by doing prior art search. It also funds value
addition initiatives in these innovations to
upscale them and make them more useful for
a larger segment of people.

Option (c) is correct.

Explanation: Nitrogen fixation causes free
nitrogen (N,) to combine chemically with
other elements to form more-reactive nitrogen
compounds such as ammonia, nitrates, or
nitrites.

Increasing the amount of nitrogen-based
fertilizer does not lead to more micro-
organisms in the field. If it did, just one dose of
fertilizer would make the farm nitrogen-rich
for years, together.

Excessive use of nitrogen fertilizers resulting
in soil acidity is a well-known fact.

Nitrogen fertilizers break down into nitrates
and travel easily through the soil. Because it is
water-soluble and can remain in groundwater
for decades, the addition of more nitrogen
over the years has an accumulative effect.

Option (b) is correct.

Explanation: IUCN is a voluntary organization,

not an agency of the United Nations. (If you

knew this much, you could eliminate all other
options). Some facts about [IUCN:

e Founded in 1948 as the world’s first
global environmental organisation.

e A leading authority on the environment
and sustainable development.

e  Aneutral forum for governments, NGOs,
scientists, business and local communities
to find practical solutions to conservation
and development challenges.

e  Perform thousands of field projects and
activities around the world.

CITES was drafted as a result of a resolution

adopted in 1963 at a meeting of members of

the International Union for Conservation of

Nature (IUCN).

It is legally binding on the Parties (member
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countries of CITES) - in other words, they
have to implement the Convention - it does
not take the place of national laws.

Option (a) is correct.

Explanation: The Commission for Agricultural
Costs & Prices (CACP) is an attached office
of the Ministry of Agriculture and Farmers
Welfare, Government of India.

e [t came into existence in January 1965.

e It is an advisory body whose
recommendations are not binding on the
Government.

e The Commission for Agricultural Costs
& Prices (CACP) recommends MSPs
for 22 mandated crops and Fair and
Remunerative Price (FRP) for sugarcane,
but this will be approved by the Cabinet
Committee on Economic Affairs (CCEA)
chaired by the Prime Minister.

Option (b) is correct.

Explanation:

The equatorial counter-currents are driven
by a distinct surface wind pattern in the
tropics. Strong westward trade winds result in
westward surface flow in most of the tropical
Atlantic and Pacific Oceans. However, several
hundred km. north of the equator, the winds
are much weaker in comparison.

The stronger winds to the south pile up
water where the winds are weak. As a result,
the surface of the ocean can be up to 6 in.
(15 cm.) higher and the thermocline (region
of strongest decrease of temperature with
increasing depth) as much as 328 ft. (100
m.) deeper than it is directly to the north.
The excess water flows eastward under the
influence of the Earth’s rotation, giving rise to
the equatorial counter currents.

Option (a) is correct.

Explanation: The town (as well as the Mandal)
of Srisailam is reputed for the shrine of Lord
Mallikarjuna on the flat top of Nallamala Hills.
Ombkareshwar is situated on the Mandhata
hills in Madhya Pradesh, known in ancient
times as Shivpuri. The temple dates back to
the Krita Yuga. The River Narmada flows here
around the Mandhata hill in the form of an
Om (Omkaram).

The Mahadeo Hills are a range of hills in the
Madhya Pradesh state of central India. But,
Pushkar lies in Ajmer, Rajasthan.

Option (b) is correct.

Explanation: The Anarchical and
Revolutionary Crimes Act of 1919, popularly
known as the Rowlatt Act or Black Act, was
a legislative council act. It was passed by
the Imperial Legislative Council in Delhi on
21 March 1919, indefinitely extending the
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emergency measures of preventive indefinite
detention, incarceration without trial and
judicial review. The Act was based on the
recommendation of the ‘Sedition Committee’
chaired by Sir Sidney Rowlatt.
It gave the government enormous powers
to repress political activities and allowed
detention of political prisoners without trial
for two years.
The Rowlatt Satyagraha was in response
to the enactment of the Anarchical and
Revolutionary Crimes Act of 1919. Gandhiji
called for a countrywide campaign against the
Act.
e M. K. Gandhi started a campaign against
the Act and set up Satyagraha Sabha
on 24™ February, 1919 in Bombay. The
three organizations viz, the Home
Rule League, Muslim League and the
Satyagraha Sabha along with some other
small organizations coordinated and
organized the biggest Satyagraha ever.
The Simon Commission came in 1927. So, there
is no correlation between the Anti Rowlatt Act
agitation and the Anti Simon Commission
agitation.
Option (b) is correct.
Explanation: Ebola Virus Disease (EVD):
EVD, formerly known as Ebola haemorrhagic
fever, is transmitted to people from wild
animals and spreads in the human population
through human-to-human transmission.
It was discovered in 1976 near the Ebola River
which is now the part of the Democratic
Republic of Congo.
In its first deadly wave in 2013-2016, the
Ebola outbreak killed 11,300 people, mostly in
Guinea, Sierra Leone and Liberia.
Fruit bats of the Pteropodidae family are natural
Ebola virus hosts.
It is introduced into the human population
through close contact with the blood,
secretions, organs or other bodily fluids
of infected animals such as fruit bats,
chimpanzees, gorillas, monkeys, forest
antelope or porcupines found ill or dead or in
the rainforest.
Option (a) is correct.
Explanation: Fly ash is a by-product from the
burning of coal in electric power generating
plants.
Itis called fly ash because it is transported from
the combustion chamber by exhaust gases.
It is collected from the exhaust gases by
electrostatic precipitators or bag filters.
It is a composition of substantial amounts
of Silicon dioxide (SiO,), Aluminium oxide
(AL,O,), Ferric oxide (Fe,O;) and Calcium
oxide (CaO).
Fly ash is an excellent raw material for the
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manufacture of construction material like
blended cement, fly ash bricks, mosaic tiles
and hollow blocks. It resembles the Portland
cement but is chemically different. It also has
other, high volume applications and can be
used for paving roads, building embankments,
and mine fills.

Potentially toxic trace elements in coal

include arsenic, beryllium, cadmium,
barium, chromium, copper, lead, mercury,
molybdenum, nickel, radium, selenium,

thorium, uranium, vanadium, and zinc.

Option (c) is correct.
Explanation:

Figure: Dugong
The Andaman and Nicobar Islands’
animal is the dugong. It is also known as the
sea cow.

state

This endangered marine species feeds on
seagrass and other aquatic vegetation found
in the area.

It is the only extant species of the family
Dugongidae and the only herbivorous
mammal that is strictly marine.

The dugong is a flagship species in the region,
found along the Tamil Nadu coast between
India and Sri Lanka.

Elephants are said to be the closest relatives of
Dugong,.

They are found in shallow tropical waters
throughout the Indo-Pacific area, including
the Gulf of Kutch, Gulf of Mannar, Palk Bay,
and the Andaman and Nicobar Islands in
India.

In India, dugongs are protected under the
Schedule 1 of the Indian Wildlife Act 1972,
which bans the killing and purchase of
dugong meat.

They are vulnerable according to the IUCN
status.

Option (d) is correct.

Explanation: Dadabhai Naoroji, R. C. Dutt,
Ranade, Gokhale and G. Subramania Iyer
were among those who grounded Indian
nationalism firmly on the foundation of
anti-imperialism by fashioning the world’s
first economic critique of colonialism, before
Hobson and Lenin.

The drain theory was established by Dadabhai
Naoroji. Increased poverty and lower wages
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were among the indirect products of colonial
rule, according to Dutt.

Dadabhai Naoroji, R. C Dutt, G. V Joshi,
G. Subramaniyam lyer, G. K Gokhale, Prithwis
Chandra Ray, and hundreds of other political
workers and journalists analyzed every aspect
of the economy and subjected the entire range
of economic issues and colonial economic
policies for minute scrutiny.

They were able to trace the process of the
colonialization of the Indian economy and
conclude that colonialism was the main
obstacle to India’s economic development.
Dadabhai Naoroji: Dadabhai Naoroji, known
in the pre-Gandhian era as the Grand Old
Man of India.

Work: Poverty and Un-British Rule in India
The Drain Theory was established by him.
Romesh Chandra Dutt: Romesh Chandra
Dutt, a retired ICS officer, published The
Economic History of India at the beginning
of the 20™ century in which he examined in
minute detail the entire economic record of
colonial rule since 1757.

G. Subramaniyam Iyer: Founder of ‘The
Hindu" in 1878 And Tamil Newspaper;
“Swadesmaitran” in 1882.

Option (d) is correct.

Explanation: — Founded in 1944, the

International Bank for Reconstruction and

Development (IBRD) — soon called the World

Bank — has expanded to a closely associated

group of five development institutions.

World Bank Group consists of five

development institutions:

e  Thelnternational BankforReconstruction
and Development (IBRD) provides loans,
credits, and grants.

e The International Development
Association ~ (IDA)  provides low-
interest or no-interest loans to
low-income countries.

e The International Finance Corporation
(IFC) provides investment, advice, and
asset management to companies and
governments.

e The Multilateral Guarantee Agency
(MIGA) insures lenders and investors
against political risk such as war.

e The International Centre for the
Settlement of Investment Disputes
(ICSID)  settles  investment-disputes

between investors and countries.
The World Bank releases the Global Economic
Prospects report periodically.

Option (c) is correct.
Explanation: If SLR is reduced, banks have
to park less money with the RBI in the form
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of securities, cash etc. So, they have more
money to lend, and the return on lending is
also greater than what they get in SLR. Hence,
the scheduled commercial banks may cut their
lending rates.

Option (c) is correct.

Explanation: Nanotechnology is science
and engineering at the scale of atoms and
molecules. It is the manipulation and use of
materials and devices so tiny that nothing can
be built any smaller.

Nanosystems have significantly different
biological properties from large-sized systems
(e.g., implants or microparticles) that could be
used effectively to overcome problems in drug
and gene therapy.

Application of nanotechnology in health
sector:

1. Treatment and diagnostics of various
diseases using nanoparticles in medical
devices.

Smart pills

Nano-level electronic devices that are
shaped and designed like pharmaceutical
pills but perform more advanced
functions such as sensing, imaging, and
drug delivery.

2. Nanobots are micro-scale robots,
which essentially serve as miniature
surgeons. They can be inserted into the
body to repair and replace intracellular
structures.

3. Nanofibers are being used in wound
dressings and surgical textiles, as well
as in implants, tissue engineering, and
artificial organ components.

Option (b) is correct.
Explanation: Agriculture is a state subject
under Schedule 7 of the Indian Constitution.

Agricultural Markets in most parts of the
country are established and regulated under
the State APMC (Agricultural Produce Market
Committee) Acts. The whole geographical
area in the state is divided and declared as a
market area wherein the markets are managed
by the Market Committees constituted by the
State Governments.

The  Agricultural Produce  Marketing
Committee (APMC) Act authorizes the
concerned State Governments to notify the
commodities, designate markets and market
areas where regulated trade takes place and
provides for the establishment of APMCs that
are accountable for the functioning of the
markets.



UPSC (CSE PRELIMS) SOLVED PAPERS GENERAL STUDIES PAPER-I

The objectives of the APMC are mentioned
below:

e Developing an efficient
system.

e Promotion of agri-processing
agricultural exports.

®  Specify procedures and systems to
establish an effective infrastructure for

the marketing of agricultural produce.

marketing

and

Option (c) is correct.
Explanation:

Figure: Olive Ridley Turtle

River Dolphin is the National Aquatic Animal
of India. This mammal is also said to represent
the purity of the holy Ganga as it can only
survive in pure and fresh water.

They are locally known as Susu, because of the
noise it makes while breathing. This species
inhabits parts of the Ganges, Meghna and
Brahmaputra rivers in India, Nepal, Bhutan

76.

77.

and Bangladesh, and the Karnaphuli River in
Bangladesh.

It is a critically endangered species in India,
and therefore, has been included in the
Schedule I for the Wildlife (Protection) Act,
1972. The main reasons for decline in the
population of the species are poaching and
habitat degradation due to declining flow,
heavy siltation, construction of barrages
causing physical barrier for this migratory
species.

-
)

Figure: Gangetic Dolphin

Option (d) is correct.

Explanation: The Congress Socialist Party
(CSP) was a socialist group within the Indian
National Congress. It was founded in 1934
by Congress members who rejected what
they saw as the anti-rational mysticism of
Gandhi as well as the sectarian attitude of
the Communist Party of India towards the
Congress. It was founded by Jai Prakash
Narayan and Acharya Narendra Dev. It was
influenced by Fabianism as well as Marxism-
Leninism, the CSP included advocates of
armed struggle or sabotage as well as those
who insisted upon Ahimsa or nonviolent. It
advocated decentralized socialism in which
co-operatives, trade unions, independent
farmers, and local authorities would hold a
substantial share of the economic power.

Option (b) is correct.

Explanation: Article 110 of the Constitution of
India deals with money bills. Money bills deal
with expenditure from the consolidated fund
of India, therefore only Lok Sabha is given
exclusive power to enact them. It can only be
introduced in the Lok Sabha. Rajya Sabha has
no power to either reject or amend a money
bill.

The Rajya Sabha should return the bill to the
Lok Sabha within 14 days with or without
recommendations. The Lok Sabha can either
accept or reject these recommendations. Since
the Annual Financial Statement is a money bill,
the Rajya Sabha can only discuss it. The Rajya
Sabha has no power to vote on the Demand
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for Grants since it is part of the budget (money
bill) enactment process.

Article 117 of the Constitution of India deals
with financial bills. It can be introduced only in
the Lok Sabha, but the Rajya Sabha has equal
powers with the Lok Sabha in the enactment
process. Only the Lok Sabha can vote on the
demand for grants.

Option (b) is correct.

Explanation: The main purpose of the

Government of India Act 1919 was to expand

the participation of the Indian people in the

government. It is also known as the Councils

Act of 1919.

Key Provisions:

e Introduction of Diarchy at the Provincial
Level.

e  Control over provinces was relaxed by
demarcating subjects as ‘central subjects’
and “provincial subjects’.

e The provincial government’s subjects
were separated into two divisions.

e The reserved subjects were under the
supervision of the province’s British
governor, while the transferred subjects
were assigned to the province’s Indian
ministers.

e  Legislature had no power to pass any bill
without the assent of the Viceroy while,
on the contrary, the Viceroy could enact
a bill without the assent of the legislature.

e Bicameralism was introduced in the
Central Legislature by this act.

e The communal representation was
extended to include Sikhs, Europeans
and Anglo-Indians. The Franchise (Right
of Voting) was also granted but only to a
limited number of people.

e The Act provided for the establishment
of a Public Service Commission in India.

Option (c) is correct.
Explanation: The Consumer Price Index
Numbers for Industrial Workers is designed to
measure a change over time in prices of a given
basket of goods and services consumed by a
defined population (i.e., Industrial Workers).
This Index is compiled for Industrial Workers
residing in 70 centres of industrial importance
in the country.
The indices are compiled and released every
month. The indices are based on the weights
derived from the Working Class Family
Income and Expenditure Survey and the
current prices of the selected items collected
from 226 markets spread over 70 centres.
It reflects the consumption pattern of the
working class population.
e The Labour Bureau, an attached office
under the Ministry of Labour and
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Employment, was set up on 1% October
1946.
It is entrusted with the work of compilation,
collection, analysis and dissemination of
statistics on different aspects of labour.
The Labour Bureau compiles the Consumer
Price Index Numbers for Industrial Workers,
Agricultural/Rural Labourers, the Retail Price
Index of Selected Essential Commodities in
Urban Areas etc.

Option (d) is correct.
Explanation:
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Figure: IceCube (Particle detector at the South Pole)
IceCube is a particle detector at the South
Pole that records the interactions of a nearly
massless subatomic particle called the
neutrino. IceCube searches for neutrinos from
the most violent astrophysical sources: events
like exploding stars, gamma-ray bursts, and
cataclysmic phenomena involving black holes
and neutron stars.

The IceCube telescope is a powerful tool
to search for dark matter. It could reveal
the physical processes associated with the
enigmatic origin of the highest energy particles
in nature. It is the world’s largest neutrino
detector, encompassing a cubic kilometer of
ice.

It is buried beneath the surface, extending to
a depth of about 2,500 meters. Burying it deep
in ice is important to enhance the precision of
the detector.

Option (c) is correct.

Explanation: The Agreement on Agriculture
(AoA) is an international treaty of the World
Trade Organization.

It was negotiated during the Uruguay Round
of the General Agreement on Tariffs and Trade,
and entered into force with the establishment
of the WTO on January 1, 1995.

The Agreement on Agriculture consists of
three pillars:

(1) Domestic support:

AoA divides domestic support into
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two categories: trade-distorting and
non-trade-distorting  (or  minimally
trade-distorting).

(2) Market access:
Market access refers to the reduction of
tariff (or non-tariff) barriers to trade by
WTO members

(3) Export subsidies:
The AoA required developed and
developing countries to reduce export
subsidies by at least 36% and 24% (by
value) or by 21% and 14% (by volume)
over six years and ten years, respectively.

Option (c) is correct.

Explanation: Near Field Communications
(NFC) is a short-range wireless technology
that allows mobile devices to actively interact
with passive physical objects and other active
mobile devices. A term “Tap n Go” is also used
for this, because it clearly conveys a visual
image in which this technology is intended to
be used.

It is based on electromagnetic radio fields
between devices like smartphones or tablets.
Contactless communication allows a user to
wave the smartphone over an NFC compatible
device to send information without needing
to touch the devices.

Bluetooth can connect to devices up to 32
feet away, yet near field communication can
connect to devices at a maximum distance of 4
centimeters on average. It can use encryption
when sending sensitive information.

Option (b) is correct.
Explanation:
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Figure: Golan Height

The Middle East is a geopolitical term that
commonly refers to the region spanning the
Levant, Arabian Peninsula, Anatolia (including
modern Turkey and Cyprus), Egypt, Iran and
Iraq.
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Option (c) is correct.

Explanation: Rupee convertibility means the
system where any amount of rupee can be
converted into any other currency without
any question asked about the purpose for
which the foreign exchange is to be used.

Non-convertibility can generally be defined
with reference to transaction for which foreign
exchange cannot be legally purchased (e.g.,
import of consumer goods etc), or transactions
which are controlled and approved on a case-
by-case basis (like regulated imports etc).

Option (b) is correct.

Explanation: The ninth century saw the rise
of a number of hill states in the Himalayas,
some of which maintained their identity until
recent years, despite their wars with each
other and the frequent raids from the men of
the plains. States such as Champaka (Chamba
— Himachal Pradesh), Durgara (Jammu),
Trigarta (Jalandhar), Kuluta (Kulu — Himachal
Pradesh), Kumaon and Garhwal managed to
remain outside the main areas of conflict in
the northern plains.

Medieval Indian State | Present Region
Champaka Chamba
Durgara Jammu

Kuluta Kullu

Malwa Central India
Kamarupa Assam

Trigarta Jalandhar

Utkala Odisha

Twipra Tripura

Option (d) is correct.

Explanation:

Tributaries of Godavari River:

Left tributaries: Purna, Pranahita, Indravati,
Sabari, Taliperu, Wainganga, Penganga,
Wardha, Dudhana

Right tributaries: Pravara, Manjira, Pedda
Vagu, Manair, Kinnerasani.

Option (a) is correct.

Explanation: The joint sitting is an
extraordinary mechanism provided in the
Constitution to resolve a deadlock between
the two Houses over the passage of a bill.

A Dbill is passed by a simple majority by the
total number of members of both the Houses
present and voting in the joint sitting.

Article 108: It provides for the joint sitting
of both the Houses. The joint sitting by the
Parliament is called by the President of India.
The jointssitting is presided over by the Speaker
or, in his absence, by the Deputy Speaker of
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the Lok Sabha. If the Deputy Speaker is also
absent, then the Deputy Chairman of the
Rajya Sabha will preside over the joint sitting.

Option (d) is correct.

Explanation:

The South Andaman forests have profuse
growth of epiphytic vegetation, mostly
ferns and orchids. The Middle Andaman
harbours mostly moist deciduous forests.
The North Andaman is characterized by the
wet evergreen type, with plenty of woody
climbers. The North Nicobar Islands (including
Car Nicobar and Battimalv) are marked by the
complete absence of evergreen forests, while
such forests form the dominant vegetation in
the central and southern islands of the Nicobar
group. Grasslands occur only in the Nicobars,
and while deciduous forests are common
in the Andamans, they are almost absent in
the Nicobars. The present forest coverage is
claimed to be 86.2% of the total land area.

Option (d) is correct.
Explanation:
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Figure: Buddhist Religious Place
Buddha travelled through the towns and
villages in the kingdoms of Kosala and
Magadha teaching his philosophy.

Other important places related to Buddha
Sravasti was located in Uttar Pradesh around
the area of Balrampur in modern Uttar
Pradesh. It is closely associated with the life
of Buddha because Buddha had spent 24
Chaturmasas. In Buddha’s times, Shravasti
was the capital of Kosala Kingdom.

It has some faiths of Buddhism that Buddha
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after his death descended from heaven here.
Rajgir was the early capital of Magadh
Janapada. It was ruled by Bimbisara during
Buddha's time. After the great departure
(Mahabhinishkramana), Buddha first went to
Rajgir. He started begging alms over there and
living a life of an ascetic.

Option (b) is correct.

Explanation: The Montreal Protocol is an
international treaty designed to protect the
ozone layer by phasing out the production
of numerous substances that are responsible
for ozone depletion. It was agreed on 16
September 1987 and entered into force on 1
January 1989. Since then, it has undergone
nine revisions, from 1990 (London) to 2016
(Kigali).

It seeks to cut the production and consumption
of ozone depleting substances (ODS) in order
to protect the earth’s fragile ozone layer. It
also aims at phase out HCFCs by 2030. It has
phased-out more than 95% of the ODS so far
as per its main mandate in less than 30 years
of its existence.

Option (b) is correct.

Explanation Chinese gunpowder technology
is beheved to have arrived in India by the mid-
o century, but could have been introduced
much earlier by the Mongols, who had
conquered both China and some borderlands
of India, perhaps as early as the mid- 13"
century. It is believed that the Mongols used
Chinese gunpowder weapons during their
invasions of India.

Option (d) is correct.

Explanation: The Planning Commission was
replaced by a new institution— NITTAAYOG on
January 1,2015 with emphasis on ‘Bottom - Up’
approach to envisage the vision of Maximum
Governance, Minimum Government, echoing
the spirit of ‘Cooperative Federalism'.
Chairperson: Prime Minister
Vice-Chairperson: To be
the Prime Minister

Chief Executive Officer: Appointed by the
Prime Minister for a fixed tenure, in rank of
the Secretary to Government of India.

appointed by

Option (a) is correct.

Explanation: The United Nations Conference
on Sustainable Development (UNCSD), also
known as Rio 2012, Rio +20, or Earth Summit
2012 was the third international conference on
sustainable development aimed at reconciling
the economic and environmental goals of the
global community.

It was hosted by Brazil in Rio De Janeiro from
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13 to 22 June 2012. Rio +20 was a 20-year
follow-up to the 1992 Earth Summit.

It reaffirmed the commitment to Agenda 21.

Option (d) is correct.

Explanation: The executive power of the
Union is vested in the President, and is
exercised by him either directly or through
officers subordinates to him in accordance
with the Constitution.

The Cabinet Secretary is the ex-officio
Chairman of the Civil Services Board; the
chief of the Indian Administrative Service and
head of all civil services.

Option (c) is correct.
Explanation:

Habitable Zone
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Planet size: 1-2x Earth

Figure: Goldilocks Zone

A habitable zone, also called the “Goldilocks
Zone”, is the area around a star where it is
not too hot and not too cold for liquid water
to exist on the surface of surrounding planets.

Our Earth is in the Sun’s Goldilocks zone. If
Earth were where the dwarf planet Pluto is,
all its water would freeze; on the other hand,

if Earth were where Mercury is, all its water
would boil off.

So, when scientists search for the possibility of
alien life, any rocky exoplanet in the habitable
zone of its star is an exciting find.

It is basically a search for the Earth-like planets
in outer space.

Option (b) is correct.

Explanation: A group of 100 men led by C
Rajagopalachari marched to Vedaranyam, a
small coastal town in then Tanjore District and
extracted salt from sea water in April 1930 to
break the salt law imposed by the British. It
was the result of the Dandi March by Mahatma
Gandhi which triggered a Civil Disobedience
Movement across the country.

Option (c) is correct.

Explanation: Harihara 1 was the founder of
the Vijayanagar Empire. His initial military
exploits established his control over the
valley of the Tungabhadra River (a tributary
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of Krishna), and gradually he expanded his

control to certain regions of Konkan and

Malabar Coast. By that time Hoysalas had lost

its last ruler Veera Ballala III who died fighting

the Sultan of Madurai, and the vacuum so
created facilitated Harihara I to emerge as the
sovereign power.

Option (b) is correct.

Explanation: Annie Besant was the first woman

to become the president of the Congress. She

became the president of the Congress in the

Calcutta session of 1917.

e Sarojini Naidu was the first Indian
woman to become the president of the
Congress. She became the president of
the INC in the Kanpur session of 1925.

e W C. Banerjee was the first president
of the Indian National Congress. He
became the president in the Bombay
session of 1885.

e Badruddin Tyabji was the first Muslim
to become the president of the Congress.
He became the president of congress in
the Madras session of 1887.

Option (a) is correct.
Explanation: The Green Climate Fund (GCF) is
a fund within the framework of the UNFCCC
founded as a mechanism to redistribute money
from the developed to the developing world,
in order to assist the developing countries in
adaptation and mitigation practices to counter
climate change.

The Green Climate Fund was designated as an

operating entity of the financial mechanism of

the UNFCCC, in accordance with Article 11 of
the Convention.

The Green Climate Fund (GCF) was

established to limit or reduce greenhouse

gas (GHG) emissions in developing countries
and to help vulnerable societies adapt to the
unavoidable impacts of climate change.

Option (c) is correct.

Explanation: The Indira Gandhi Prize also

known as the Indira Gandhi Peace Prize or the

Indira Gandhi Prize for Peace, Disarmament

and Development. It is the prestigious award

accorded annually by India to individuals
or organizations in recognition of creative
efforts toward promoting international
peace, development and a new international
economic order; ensuring that scientific
discoveries are used for the larger good of
humanity, and enlarging the scope of freedom.

It carries a cash award of 2.5 million Indian

rupees and a citation.

Angel Merkel (2013) and ISRO (2014) were the

recipients of the award.



